B.A./Part-l/Gen./(1+1+1) System/ECOG-/2019

B.A. General Part-1 Examination, 2019

EcoNOMICS

PAPER-I (Revised New Syllabus)
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are reguired to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
o=

Hg-®
1 Answer any five questions from the following: 2x5=10

@-GFF #ff5lF eltem Teg we:
A diEger seEes! S} fage-

(a) Define inferior good.
e v mwl we
et awe aRary e |

(b) State the law of Diminishing Marginal Utility.
FRFE eiffes T i 3=t 2
&HHH S Suiae! MEE saege |

(¢) Define marginal rate of substitution (MRS) between two goods.
1 ¥Ee TeE Afes Aiader I mEl we |
5L TEIEOAE®! g TioveyT oY @ aftarr e |

(d) What is Price-Consumption Curve (PCC)?
W=t @ (PCC) 70 ¢
Hed TUNIT 9% (PCC) 799! & 8l ?

(e) State the law of variable proportions.
Terirea CeE ARReE Siites I I A [ 2
IR AFUaS W aareae |
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(f) Draw the AFC (Average Fixed Cost) curve and explain its shape.

(&)

(h)

Ll

5. (a)

1065

AFC Gl i @R @7 93 SR I
MWW(&FC}@WW1&%WWW
e |

Draw the demand curve when price elasticity is unity.
mwﬁﬂmmmﬁmmwméﬁm:
n@@ﬁﬂﬂﬂi#&rﬁmmma‘rﬁﬂaﬁﬁm

What is the relation between Average Revenue (AR) and Marginal Revenue
(MR) under perfect competition?
vffaﬁmﬁmmwwmﬂmﬁmﬂmm}mmw#ﬁw
@WMW(&}@%WM@MWW%
w0 7

GROUP-B
st-d

Bk GaC
Answer any iwo guestions 10x2 =20
E-ER Fio v Ted e
= ghae s S REEN
What is budget line? How is it constructed? Why is it called a price line? 3+54+2=10
Wmﬁ?amwﬁmwa?aﬁwmmﬂImaﬁﬁ?
mﬁmﬁmwmmwvm@wmm ?

Explain the relationship between AC and MC with a suitable diagram. 10
e forea 7RICT AC & MC TER 7 T F9)
WW@HMW@C}%WW@C}WW

e TR |

Define production function. Explain graphically three stages of production in 2+8=10
terms of relations between AP, MP and TP all in short run.

Beolwe SRS (pmducﬁnnﬁmcﬁon)ﬁ 9 AP, MP € TP 7 TEFE FAEE
ﬁﬁwwmﬂmmﬁﬁﬂﬂtmgﬁ)mmﬁmwwﬁm

WW@WWLMW(M}.WWM)aﬁ
FA  SEE (TP)-Frsa! T AT STl &9 TERIEGD]
Waﬁqﬁﬁﬁﬂmn@m

Show the relationship between AR and MR under imperfect competition. 4+2+4 =10
WWM(%%%M{W%@WWWI
a@mﬁmwm(maﬁmmm}wm
SEEIEN |
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(b) What is indifference curve?
Fam e
Tew @1 FE B BT ?

{¢) Why two indifference curves do not intersect?
@ i R el O SeiEE S A A
gEaCT e EEw (39 Auvear Seme e ?

GROUP-C
et

THE-TT

Answer any one question 20x1=20
- g5 erfa Teg we
T U TEH SN REEN
6. (a) Explain the relationship between AU, MU, and TU graphically. 6+-8+6 = 20
AU, MU @8 TU @7 7% Bras Fi=e G 41
sitem SuEifET (AU), S Syaifiar (MU), & g Seaiffe (TU)-- s
T YR e THE |
(b) Define consumer’s equilibrium according to Marshall. Derive demand curve
using the concept of consumer’s equilibrium and Marginal Utility Curve.
TTEE T TeTSrER ORI W wlel 93 SEy e ¢ 2if s T
@R AR TererER siRn @4t iy =)
Aol SUARDI! W Ut e | SUHikniel Srger S W
STITET T SuAnT T A6 Y s e |

(c) State some limitations of cardinal utility approach of Marshall.
fitera R EnS ToiEn Oed g AwaeE Srad F91
RIS SUHIETE! oG S B BE FAGNEe Seeld T |

7. (a) Show that for any rational consumer, indifference curves are convex to the 6+6+8 =20
origin.
rate @ (i RpRlE T e el @l ow R s Tes 2
@#ﬁﬂmﬁamﬁmﬁfﬁw%mmﬁw (mnvex}@'ﬂ‘ﬁ
S e |

(b) What is income consumption curve? How can it be derived?

T @t & ¢ ot Fene FEr T E ¢
1Y SUHRT & ST @ B 7 A HEw Sga TRs ?
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(¢) What is meant by price effect? Explain graphically decomposition of price effect

into substitution effect and income effect.
R 2fST (Price effect) T & @RIE ¢ Bwg Fw T 39 Feng Wy ooy
(PE) (% +ifiee 2/er ¢ 9 aew foe w9t 9

o9 YA el B Bl ? Hed WNIEE! ST wee A a1 WHiE aise
e Wi @R THE |

8. (a) Explain the laws of returns to scale. 8+12=20

Wt iR afew FEel I 541
A wReEel Fren wreE e |

(b) Why is the LAC curve called an “envelope curve’? Explain with diagram.

1065

RETA TG AT ‘Envelope curve’ 381 28 &1 ¢ s wiiey aim =1
SreETe™ siraa-varers & ‘Tormr-var Wi ? wEfrEwfta =rer THEN )
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UNIVERSITY OF NORTH BENGAL
B.A. General Parit-1 Examination, 2019

EcoNOMICS

PAPER-II
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
e
HYg-a
1. Answer any five questions from the following: 2x5=10
@1 #Afly eitsr e wes
7 dfege Feenel e e

(a) What is the relation between value of money and general price level?
e T € FHRE wEEEs TR R o
HETP! A S A g WIS @ e 50 7

(b) What is meant by velocity of circulation of money?
wela siferst wo e F @Rl 7

HETH! UFe 9 wEe B gErs ?
(c) Define consumption function.
(o9l WremEEa e we |
FUHAT Fes! giamT e |
(d) What is meant by transfer income?
LTS A 500 & @R 2
BEIORY] A FATel § g 7
(e) What is employment multiplier?
FHwa @4 (Employment multiplier) FITF 3031 ¢
SR O HH! & B ?

1066 1 Tum Over
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(f) Define price index number.
W o FE A 2
oo ESiE e yRaie THe |
(2) What is autonomous investment?
wEvye v s 3 o
W e e © 8 2
(h) What is full employment?

sieffeaet R ¢
ol IR W S B 7

GROUP-B

Answer any fwo questions
@-3F ¥fo eiem Tew we

7 gdger v I Rgey

Explain the value added method of measuring national income.
TS S ARaneR R e e o
W &R a7 ge-an /R =t i)

Critically explain Say’s law of market.
G (Say)-47 e Fiide @b TG T T3
WS quRS! NS WA wuE Th THe |

Define money. Explain the important functions of money.
e e We | wda ewee Freel wEn 59

HeTes R e | HETeT g FRiEw e THe |

Briefly discuss the “Paradox of thrift”.
UL HEER Wirie Reaiel wgl S 3=
et faRtamare (paradox of thrift) @7 Slesdwr Tof T |

[B¥]

10x2=20

10

10

10

10
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GROUP-C
Freti-o

HHE-TT

Answer any one question 20x1 =20
@-(FF 9F(F erez Tag we
T UE e 9T IR

6. (a) State and explain Cambridge version of the quantity theory of money. 10+10=
wrd “ifewi ore AR T & w g 3= 20
s el 98T TRAvTeT Rigra weere o e TR |

(b) Distinguish between Cambridge version and Fisher’s version of the quantity
theory of money.

Wl #ifFe oreE i we ¢ B woes o e e
Bie TS| JuT uRAvs! g af e e riw wHE )

7. (a) What do you mean by inveluntary unemployment? 3+17=20
RIS @R TS F @R ¢
Fifeas R o & gD ?

(b) How does Keynes explain this problem?
(3 [Feig @B s 2 S0 ¢
D TF GRS A e @l O ?

8. (a) Discuss the important features of Keynesian consumption function. 4+10+6

IR (Sl SRR ewee rRe SEna 7= =20
DD SN Herrd! g fRase el TgEy |
(b) Explain the factors that determine the consumption function.
et wres e e amn =
ST e i 7 sRess aren TER |
(c) Estimate the values of multiplier when mpc = 0.5 and 0.8.
B Wi 77 9 T &ffF (O 8-S (mpe) = 0.5 '€ 0.8 TI |
i MPC=0.5 & 0.8 &9, T8 T0%Hs! 719 FaRer 1989 |

b

1066 3 .
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UNIVERSITY DF NORTH BENGAL
B.A. General Part-I Examination, 2019

ECONOMICS

PAPER-III

Time Allotied: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
=

TE-5

Answer any five questions from the following: 2x5=10
@ el e Tem wes
T diugel UTIEGE! o g
{a) What is national income?
=g e
T A GIH F B ?
(b) Mention two features of underdevelopment of the Indian Economy.
TAEG ST WAl Kb (A*E BrEd I
ARG faTe afERTTe! gEae e qaregerd |
{c) What do you mean by poverty line?
wifeEy el 7o & @R 2
‘ERewd-var e 9 o ?
(d) Mention two main problems of low productivity in Indian agriculture.
TR FRAS TF Tesiimeres 1o ey Wep! Srad 1)
ARG Feese! = SoeTieas gEae 5 9 suregery |
(e) Mention two important objectives of land reforms.
ol eI wib e Trvey Tred 91

A GRS RIS T ST TSR |
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(f) What do you mean by Operation Barga?
i T TS R @ p
T T B D 7
(g) Mention two features of Indian human capital.
SIS W FOATRE T2l [Are GrEd 4
ey e Gt gEaer RvaEs aaeTe |
(h) Mention two main problems of rural credit in India.
SIS AT E 20 e Tl Bme 9
HRTAT UV FEOHT GEae] G WRITES Sooi THE |

GROUP-B
faeti-4
Hie-9
Answer any fwo questions 10x2 =20
(F-cFH o emwm Ted wie
F g3aeT UEREESl S ey
2. Explain the causes of underdevelopment of the Indian Economy. 10

ST TRE AIeY FRESH wEm 9
A e SfEefa g0 FNUES ey TR |

Lik
.

Explain the importance of estimating national income of India and its 10
limitations.

ST WO W AR T eFY ¢ FRNEE! WiE 9

HRAH! AT TOFIDT HewS A TG PROINESD] @Al e |

4. ‘What are the features of the new agricultural strategy on which experiment is 10
being made in India.
CiHred $A0C (F Wg FHemie (New agricultural strategy) a0 #1731 5o ©F
ey aEyefE & o

HIRHT FET TTRUST 741 S S Avyass & & g7 7

5. Discuss the difficulties of agricultural marketing in India. 10
ore e R i wiRe wisa w2
AT Y Teaf e sREesws! w9t TN

1067 2
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1067

GROUP-C
fer-a

WHE-T

Answer any one question
E-(FW 9316 evad Taa we

1 & TS SN fige

20x1 =20

What are the causes of low productivity in Indian agriculture? How far has 10+10=20

Green Revolution succeeded in solving the problem?
CRTEE e BeeivE TEeE TR [ R o @3 W A e R seh!
FHET 2R 7

ARG S & e saeeeiemer (i eroee & % g 7 49
TS WA T SN Hidl Sid b HUS T ?

Mention the main causes of unemployment in the agricultural and rural sectors
in India. Suggest remedies for the problems of unemployment in the agricultural
and rural sectors.

TS Y CFLET 8 AT TR el TRl Swy 391 IR e g
SR afewy o w91

ARGD! S HH GO SFEEA IS T PRUEE SASIErY | B
A AT SHEGH ARSI GRS WHEMST SUHES e |

A rapidly rising population of India is the most fundamental obstacle to
economic development—Explain.

FEEE FRIIN TR e gdiaes R wiesl (T I — o%
TEG WA T4

ANEH] TRl G e o aRiE REeer waver ST 9Em E
et e |

X,

10+10=20

20
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-1I Examination, 2019

ECONOMICS

PAPER-IV

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
fasis-5
HHe-%
E: Answer any five questions from the following: 2x5=10
Q- 5o eviz T we:

(a) State the condition of equilibrium of a monopoly firm.
GHET T SRR = S 4

4 TPHIRBR] FHE! Tgeral I garegen |

(b) Draw a diagram showing the ‘Shutdown-point’ of a competitive firm.
@ifSrEs T Title Teete e R ot =9
& aftendt Bl o T Ry TS veer Y de e |
(¢) 1s selling cost essential for monopolistic competition?

ETETo ferer Rey IrR Wy & e ¢

& yiuio ToReRE [Hd TN EavES g7 7
(d) What is meant by Value of Marginal Product?

2% Teo T T 7

B SHEST A1 99 @ g0 7
(e) Define the concept of Quasi-rent?

‘g A& FIF 9 ?

‘ST WY SO SR e |

2066 1 ' Turn Over
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(f) Can there be rent element in Wages?

TS F Wewitg SHW A0S #iE ¢
& STl WG] O 0 2

(g) Define the term ‘Homogeneous Product’.

FAEET B TS & @R 0

“HAET GeTE-F awone afen e |

(h) Can profit be zero and negative? Give reasons.

AT # SR AT 200 A A Wi =)
B T Y I TS §NA0 ? SRUES SarSgen |

GROUP-B
st
e
Answer any fwo questions 10x2 =120
@-FF 725 emE Teg we
T gEAC FETETO! 9T R
Make a comparison between perfect competition and monopoly on the basis of 10
Equilibrium Conditions.
SR =ee Toia Tofe S o afermiel e usshba FEEs g &)
o] Riswd! Al of uftremt S veRieeTs gomT THEE |

Discuss the different characteristics of monopolistic competition. 10

STEo et 2w (A S %
wiaeiee geitmre fAftw Rdvaess == M|

What will be the nature of supply curve of a firm under perfect competition in the 10
short run?

s efsraiet Foens Tk @ G@ER wiels T 54
sregsTe Ouf witrwt st wer It Yae! v el £ 7

How are the Wage rates determined in real practice by the collective bargaining 10
between employer and trade union?

AeE A @ Wi +rEr Ty A% wEEReEs T Fenm 1glin o ke m
HE=mE F=40

AEIaS TEERAT AR T A ShE SeTes Aee 9rEe SioHaen
TS ©X ey iR g7 7
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6. (a)

(b)

(<)

8. (a)

(b)

2066

GROUP-C
sttt

e
Answer any one guestion 20x1 =20
E-(F @b eTe Ted e
& UF gvd! SO fegE
What is monopoly? 3+7+10
GFEoH AT I I 7
THIEHEN 7@ & Bl 7
Can a2 monopolist influence both price and output? Justify your answer,
SFHT Terime Pivle Teritaras o ¢ v Fifiee s30e i@ & . e
TG FEI
gﬁmﬁﬁﬁ'ﬂ o S I AEE WA OeEes 7 A SeRal e
I

Show that a monopolist can eamn normal profit, super-normal profit and even
incur losses in short-run equilibdum.

I8 (1 GFHI0Y TRAE THEE Felan Wi, SEhe g 5w T4 A,
@i Hioae T TS A
9oTed WIo Wl S@reqerd |

What is loanable fund? How is the rate of interest determined by the supply and 20
demand for loanable fund?

A SR St I ¢ A w2EEE viER e @i wRE FeR e e
ez e
TR BE W@ B OB 7 FIETY Few 7 AW ofER 2iE =X wed
iR g7 ?

Define and distinguish between the following: 10+10
MPP, VMP and MRP.

fraftrs Renefm ww wie ¢ «idem o

2EF e Tesima, affes Teovraa T o 2 oy Sesinm)

Frfeafiag aronees) TRET orEery af e dueaE:

WA Aifae Sane (MPP), Sim SSUres! 819 (VMP), &9 9 amsm™T

SdE (MRP) |

What are the assumptions of the marginal productivity theory of distribution?
Discuss also this theory.

el Teefiva 35+ ©TEn Seee wEmef & & ¢ @2 oul =i 73
TWWWW%%@?&%@
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-1I Examination, 2019

EcoNOMICS

PAPER-V
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
TSl
Hg-&
& Answer any five questions from the following: 2x5=10
@ #5io drea Tea wes
%1 dragel yeEes! o) REE:
(a) Define money multiplier.
T @ S A
Ha1 ered! v fage |
(b) Write two functions of commercial banks.
s ive 1 =& Smd 791
e dieeas giaer FiisE oEgEN |
(c) What do you mean by devaluation?
SR I I ¢
YT T B R ?

(d) Distinguish between quantitative and qualitative credit control measure.
s W e e wenre 3¢t Ferem =i @
o Fo=erE [oTEE S wETEe SuEes T TR |
(e) What is meant by credit creation?
Yl T WE F @ 9
O FoTT AR B GerS ?
(f) What is meant by impact and incidence of taxation?
TS ¢ FAT A0S 7 R 9
FFS THE A AR T D GO ?

2067 1 Turn Owver
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(g) Distinguish between savings and hoarding,
T G, WGHLed Wy #HdE @
TG A FEIUATES] A TarsHE |
(h) What is free trade?
Ry e & o
Tth SMYR HH@! S B 7

GROUP-B
a2

HHe-d
Answer any /wo questions 10x2 =20
@-(FH 7o ovdF TeT we
B TRdel YEIRE®! IO ey

2 Distinguish between balance of trade and balance of payments. 10
EFRCRe ©98 @ Affdey Tyren w e g

AIRS! HrgolA i1 gore! Sgaas PE SEeEEy |

3. Give arguments for and against indirect taxes. 10
HEE SR 0w ¢ [eoirs 1 mte)
Wi Tl ge o RARem aeee e |

4. Explain Ricardo’s comparative advantage theory of intemational trade. 10

wiEE(fe qfmeTa ca fensi-a gt wie oeh S 39
FRiftsa s Rerete! geres smaar g amer e |

5. Explain critically the classical theory of interest. 10
FRCEAGHTE #7171 (Classical) 7 9@ =G F21
sl e g waETeE SO e THEN |

GROUP-C
et
HHE-1T
Answer any one question ' 20%1- =20
A-FF 4 oeia Tez we
T T% W@l SR [EE
6. (a) What is public debt? 2+6+12
FAIN W IS B @RI ‘ =20

AGATS =W A4S B B 7

2067 2
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(b) What are the sources of public debt?
S HreE Tenal TR
TGS HOTH GEE B B 5 7

(c) Do you think that internally held public debt imposes any burden on the
community?
gﬁﬁf%raﬁwaﬁ:cawﬁﬁﬁaaht$aﬁmitaﬂtsnmmsaﬁ?ﬁa{awantaﬁwtaiﬁmgvmmahwisaﬂ?

@ TS @R B araRe wuAr fisver adefie w=e WHETEE AR
ST HIS ?

7. (a) Distinguish between demand-pull and cost-push inflation.

vifEw JRETTe qErdife gn T FRiefe SRR W wide B )
AT-ART Ferenity sift IR geredifmrer wries RN |
(b) Discuss the various anti-inflationary measures.
TErife Rl [fen sk sresa =
fafa gerehife-fed sumes w=t e

8. (a) What is meant by credit creation?

e A IECS | @R P
U G WP B P

(b) Explain critically the credit creation process of the commercial banks.
ST e 3 8= 2fiFam e T v
A Sieass R oS AT AR TR |

(c) Discuss the credit control measures of the central bank.
T AT ¥ FTEe oiwte wEna 9
ST ATSHP GG GoTE SITEE T4l TEN |

2067 3
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UNIVERSITY ﬂF NORTH BENGAL
B.A. General Part-IT Examination, 2019

ECoONOMICS

PAPER-VI

Time Allotted: 2 Hours

The figures in the margin indicate full marks.

Full Marks: 50

Candidates are required to give their answers in their own words as far as practicable.

All symbols are of usual significance.

GROUP-A
fort-s
HHe-o
1. Answer any five questions from the following:
(A-CF #Aislo orsa Tea wias
(a) Define the term “Planning’.
‘siigasmt’ Tullba e wel
AT -] HIRET TR T |
(b) What do you mean by Industrial Sickness?
e il 7o & @R 2
eSS e @ 90 2
(c) Distinguish between money market and capital market.
TR AT € T SIS T A =
TET JUR A Yo Forrs TR TR |
(d) Define statutory liquidity ratio.
Rt 57 SiTes TRl we
e~ TR ST IR e |
{e) Give some examples of Indirect taxes m India.
SR e S g T e
YRGH TG 0! S SIETES 98 |

2068 1
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(f) Give two important functions of the Finance Commission.

o =R 90 ewged F1e B 9
a1 s gEaer g FREw aaegEN |

(g) Define cottage industry.

b2 Fp-oz i we)
TN Sur TR e |

(k) What do you mean by “Privatisation’?

2068

(R e T ER ¢
‘Frofevr w=me @ 3iirs 2

GROUP-B
fete-v
HHE-9
Answer any fwe questions
@-(FF §% evs Tea e
1 GEIT TEED] S [ege
Discuss the features of Indian Money market.

SIS G4 RS (AR H W 9
ARG T3] ToRaT [Aeyares =9 e |

State the role of Cottage and Small-scale industries in Indian economiic
development.

wiaTen Seefes Tats 7w € 37 Pt ey wEm 41
AR el B R A oy SgrTE e Seerd THE |

What is the importance of social security measures in a country like India?

SRS W (TN AT FaPreiEe I95F 9w FEnTl 39
ARG S| SO WIS TP SUNERd! @ AEE B 7

Explain quantitative measures of credit control by the Central Bank of India.
3¢t ferrand SrTes Mete g e g Ro w0

AROD! BT D! o) FE=0TH AEe SUHEH®! AT THEN |

o8]

| % 5

]

10=x2=20

{1}

10

10

19
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GROUP-C
st
HHE-TT
Answer any one question 20=1 =20
@-FF G316 evgs Ta e
T TP TS oo ey
6. Discuss the changes in the volume, composition and direction of Indian foreign 20
trade since 199].
W83 M 9 (AT SlRred e ARerg Smes, M 8 sfenme o s
AR O Wi w4
mrﬂtzﬁmﬁuﬁﬁﬁwﬁmwmmaﬂm
gReeER == e |
7. Critically examine the achievement and failure of Five Year Plan in India. 20

SErET AR sz Aree ¢ wdet wimma )

WWWW&%WWWW
TR |

8. (i) What do you mean by import substitution? 4
S e e & @@ 9
AR AR e B gfdew 2
(ii) Discuss pros and cons of it. 6
93 T ¢ et 1 me
BT BT S AraETen w9 e |
(iil) State the success of the policy of import substitution in Indian economy. 10
SRS Woel o St “tfEaeel Hfew S ) @

Wmmmmwmw;
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-III Examination, 2019

EcoNOMICS

PAPER-VII

Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

(Development Economics)

(CERISER I

GROUP-A / Rett-s / HH8-®

Answer any five questions from the following: 2x5=10
@~ A5fo etz T wies

F UrEEeT UEed!l SN AR

(a) What is marketable surplus?

R ge & ¢
fashg-ara Y&at w9H B B ?
(b) How do you define dual economy?
tre-uidifen ww fFeim (7T 2
S SfFaRITaTs Bel GRHIRT T §9 ?
(c) What do you mean by Human Development Index (HDI)?
o< SRR 36F (HDI) <eice i & @i 2
A9 9™ gEwis (HDI) w9el & gf3rs ?
(d) Distinguish between ‘Economic Growth’ and ‘Economic Development’.
SAoT e @ wdtnfes Traem ey A & o
‘i gl aify enfRies e -Ars urefea TERT |
(e) What do you mean by ‘backward linkage’?
“51eI8! (Backward) FReals! (Linkage) & 9
‘UBIE-HEETar WEIA B D ?
(f) What is the meaning of SDR?
SDR-93 &< {3 ¢ :
TY. . 3R, (SDR)-®T &ef & & ?
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(g) What is labour-intensive technique?
ARG i (Labour-intensive technique) =9
STH-UEI giaell /4] & 8 ?

(h) What do you mean by unbalanced growth?
o7 @3 (Unbalanced growth) 3ece & @RI ¢
I SUS WSl & gIro ?

GROUP-B / Teii-4 / G-

Answer any fwo questions 10x2 =20
F-F 77 v Ted wie

P gedcl YeTewd] SN fAgeq

2, Explain the concepts of HDI, GDI, GEM and HPL 10
HDI, GDI, GEM ‘€ HPI-«7 «i=etefe Jpram 331

g, €. s, (HDI), . €1 emE. (GDI), St 8. 4. (GEM) 31y T, ). arE.
(HPI) &1 SEERUMES AT T4 |

3. (a) What do you mean by optimum population? 248 —10
TS TR T [ @RI 9
SEAH TEEE] HEA B gD ?

(b) Discuss the theory of optimum population with the help of a suitable diagram.
ToiT@ fBraa MR AEST TR A O s F41
G TUYH NE-RFH AT gReaq HHed! Rigd g9 e |

4. (a) What do you mean by capital formation? 2+8 =10
SEH 910w FES [ @RI 2
it i = & gfere 2
(b) What are the major obstacles for capital formation in the under-developed
nations?
SRS (F0e! o 1ot 1 [ 7@ At [ 9
SR TeEHA Yol (FHIVET Iy JeREES & @ g ?

5. Explain the theory of balanced growth in the economic development of a country. 10
@6 (eeE SfToT S I e ored I F41
B e e @A Sxgfera SuweT Rigr @ T8 |
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6. (a)

(b)

8. (a)

(b)

(a)

3100

GROUP-C / fetsl-at / [3g-1T

Answer any one question
- G @vaa Tad wie

@@Wwﬁﬁﬁ'ﬁ

Distinguish between labour-intensive and capital intensive methods of
production.

ww-fRG @ R Tesine 2afen Ty Al F11

SeqTaRT STE-E A o v At e urefe e |

Which method of production would you support for a developing country like
India? Give reasons for your answer.
meﬁamgﬁmﬁ%ﬁ@wwww?m@@mmﬁ
e wis |
Wﬁﬁﬁ@ﬁméﬂaﬁﬁﬁ%{mm@ﬁmwaﬁn@l
T TATEPT BRUTES T e |

Explain the complementary role of agriculture and industry in economic
development.

ST TRae I 6 PE (1 G SR 2lfem, T 9
WWﬁﬁmeWﬁﬁT@ﬁﬁl

What is economic planning?

wefes sHaead 2

anffe drorT Wod! & 8 ?

Discuss the rationale and necessity of planning in a country.

@ e s i (fETe! ¢ el SCEDA! F4|
& ST AR demmet sifac s STaRHard! a9 T4l |

Elementary Statistics

(eiafie aifaReE)

GROUP-A / Fetl-= / THg-P

Answer any five questions:

@-FW A5G 2rNq Ted s

3 dteael TR ® SR RgE:
Define the term ‘attribute’.

‘ Attribute’ FEC® & GRI 2

ToTRT IRHTST e |

20x1 =20

7+13 =20

20

4+16 =20

Turn Over
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(b) What do you mean by ogive?
‘Ogive’ TCs & @Ry 9
AR 3T & gfRerw »

(¢) Show that: X (x~#)=0,
OIS @2 3" (x, — ¥)=0.

> (% -x)=0, §9 W SESE |
(d) What is class limit?

G} Sy (class limit) PICF 3= 9
Soft GR™ET ey D B ?

(D If all observations are e
deviation’?

(g) Calculate the range from the following data:
58, 38, 67, 88. 38
ﬁﬁ%ﬂ@ﬁﬁ@%‘] (CF Range e =
58, 38, 67, 88, 38
TR “Gaae: Frerizor THer:
58, 38, 67, 88, 33.
(h) Define pictogram.
Folfoq (pictogram) iz 3ger ?

R e (pictogram)-?ﬁ\f gRETT ﬁfﬁﬁ'ﬁ!

GROUP-B/ feti-4 / wige—=

Answer any swo questions
(-(FF 715 eltaiz Tag wie
BT GEI TR SR Rrger

10.(a) What is primary data?
AR AfReRy & o
URIR® Y_T W ey @ g o

(b) Describe the various methods 7 coilecting primary data,
Sl Afwey skaizs R

1% / “afoe wimmar 5
1% Yo gox e T+

R fiftew =4t ey

3100
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11.

13.
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Find the AM and median of the following frequency distribution: 10
Class: 10-20 20-30 30-40 40-50 50-60 60-70
Frequency: 8 12 11 9 8 11

RS sl Ko™ @ AM. € Median () ey =

Class: 10-20 20-30 30-40 40-50 50-60 60-70
Frequency: 8 12 11 9 8 11

ﬁw%%ﬁa@%ﬁwwﬁmﬁwmm.)aﬁwmﬂ:
S 10-20 20-30 30-40 40-50 50-60 60-70

smgfa; 8 i3r <11 9 8 11

Find standard deviation (SD) from the following data: 10
Height: 120-124 125-129 130-134 135-139 140-144 145-149
No. of Students: 12 25 28 15 12 08

Ereie ARy @ s 58 (standard deviation) =7 e
Tl 120-124 125-129 130-134 135-139 140-144 145-149
g w12 25 28 15 12 08

freferRad MRy RaxvETe 7 e fFofa Tgem:

SR 120-124 125-129 130-134 135-139 140-144 145-149
B W& 12 25 28 15 12 08
Draw a pie chart from the following data: 10

Revenue of the Central Government of a Nation:

(Rs. in crores)

Income Tax 400
Excise 550
Customs 670
Corporate Tax 350
Others 175
Total 2145
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AEERe Fie (tF pie chart i |

e ol
Income Tax 400
Excise 550
Customs 670
Corporate Tax 350
Others 75
Total 2145

Frefofad yod deddTe TSl U O SR | | QU@ B WRPRD!

IR
X, DS
IR 400
SIEEaN 550
AT gedb 670
HYIRT B 350
SR 175
G 2145

GROUP-C / Tetat-at / 8-

Answer any one question 20x1 =2(
@-(FW G5 T TEA 7S

FY Uh YIB! Sa% Qe

14.(a) Explain the advantages and disadvantages of the common measures of central 10+10 =20
tendency.

@R 2R HgEe Merelem R @ spifa R )
Her ygRie a faftEed] g o srgfuTEwe! AR THEN |

(b) Prove that i (x;,—%x)=0

i=1

AN T A D (%, -%)=0

i=]

i(xf—?c)zo &0 Wl AT TR |

i=1
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15.(a) Define:
(i) Standard deviation (SD)
(i) Median
(iii) Coefficient of variation
(iv) Quartile deviation.
IR e
(%) Standard deviation
(¥) Median
(a7) Coefficient of variation

() Quartile deviation

TRATYT eRETE

(%) AF® faae (SD)

(@) HegwI

@M fafedme! 1o (CV) 3
(=) =gy fa@erT (QD)

(b) Draw a histogram to represent the following frequency distribution:

Class: 500-510 510-520 520-530 530-540 540-550 550-560 560-570 570-580
Freq: 8 18 23 A7 47 26 16 5

fAefTRe it Jeies (A Histogram o& $98

G 500-510 510-520 520-530 530-540 540-550 550-560 560-570 570-580
sifaRAn 8 18 23 37 47 26 16 5

fereAferRaT SR FIGRVIEE TWNT TF A Sifthd TR
Sof: 500-510 510-520 520-530 530-540 540-550 550-560 560-570 570-580
Frgf: 8 18 23 37 47 26 16 5

16.(a) Find the median from the following distribution:
Class: 30-35 35-40 40-45 45-50 50-55 55-60
Frequency: 8 12 10 8 12 10

refeiere oifere Ree (@ Median W= 98

& 30-35 35-40 40-45 45-50 50-55 55-60
sifgoca 8 32 10 8 12 10

Ry=rferRad faoroare 9wy (Median) GISTERT:
. 30-35 35-40 40-45 45-50 50-55 55-60

mq%; 8 12 10 8 12 10

3100 %
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(b) Find the SD from the following data:

Class: 20-24 25-29 30-34 35-39
Frequency: 16 28 14 12

Sfeife a1y @@ Standard Deviation =zror 43
AT 20-24 25-29 30-34 35-39
oA 16 28 14 12

FefaRed vew qegere 99s feed wivgRN:
gof.  20-24 25-29 30-34 35-39

31'@'%; 16 28 14 12 )
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